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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I I I
3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec |
2500 280868608088 :
1
2000 :
............
1500 |
xm?x !
1
1000 I
1
500 Warning: 1col [ EcFgro’, 'EcPltng’] is missing

0 25 50 75 100 125 150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data

—o—
+

T}
N
[aV)
1
1
- m
o 1
o 1
N 1
J i
1
1
1
1
[fe]
~
— )
1
1
1
1
- o m “
N 1
Te)
— 1
1
1
- > m
Y 1
© I
T9)
—
1
1
1
1
1
0 & :
o
=) i
— 1
1
1
- W )—
1
1
T}
~
\
\
\
(&)
ko
) I S
. + -
— O 1o} 1 n %X
> > 1 |l O
L Lo N O O
T T Y- i

- =
—
——

0. 04 -
0.02
0. 00
-0. 02 ~
—0. 04 ~

3250
3000
2750
2500
2250
2000
1750 ~
1500 ~

22.5

20.0

17.5

15.0

12.5

10.0

7.5

5.0

day

7> 0 ) o
N N N o~
N [aV] [aV] N
||||||||||||||||||||||| | N
|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| N
‘
o o o o
o o o o
1Y 1Y I &
=}
\ N
[{9) [[p] o o
~ ~ ~ — ~
— —_ —_ —_ ©
I~
@
o o o o
[te) To) To) 1)
2 - - - | ©
©
> > > >
T T T T
o ° ° °
{9} o o Lo
o~ o~ N =~ o~ | <
- — - - h
o o o 1=}
S e e e N
I 0 ) o o
~ ~ ~ ~ -
O
S o o o o L o
* [Ts) Ts) Te) Te)
m o o > I
T I =) % & =
a o a o (i &
11T 1T 71 11T 1T 1T 171 T 1111 T 11T 1T 1T 71 11T 1T 1T 1T 171
N - o o o ©~ © ©O 1B O 1’ O W’ o b o o o o o o o © ~ © 1 <+ ©®» o -~ o 1 o 1’ o 1’ o b
- = = S R B O« & K B & & ® © ¥ 9« '
& - = = = - = S ©o 6o ©o ©o o o o B oa o 0~ 1B o oS 9~
B O b+ Ff T F o

day
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-2

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R
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G3-2
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G3-2_0, Day=21 (2025-06-02)
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